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If a#B and o =50-3, B*=5p -3, then
the equation having o/ and B/ as its roots
is :

@) 3%+ 19x+3=0 (b) 3x°-19x+3=0
(©) 3 =19x=3=0 (d) *-16x+1=0

Ify=(x+\j]+):2)".then
2

cady dy

(14-x%) 2+xdxls

(@) n’y  (b) - "zy ©) -y

AP, then x equals

(d) 2y

= 1) are in

5.

3 1
(a) A (b) 7
2 1
(c) 3 (d) 3
The period of sin’8 is :
@) 1 (b) 1
(©) 21 d) -’5

I, m, n are the p"' q"' and r" term of an G.P.

and all positive, then

Bl nl
(c) 1

(a) logy 4
‘ | (b) 2
(c) 1-logs3 (d) ) 6o
A problem in mathematics is given to three T-c2x .
students A,B,C and their respective 7. ]To BT
bability of solving the problem is s 4 -
proba 2, 3 (a) A
b) -1
and % Probability that the problem is solved EC)) i

is :

(d) does not exist



A triangle with vertices (4, 0), (-1, -1), (3, 5) [

2
is : 4. lim "—;’—f’-"—ﬁ is equal 1o
(a) isosceles and right angled x—=oo| X +x+2

(b) isosceles but not right angled 4 2
(c) right angled but not isosceles @) e3 b) &
(d) neither right angled nor isosceles (c) e (d) e
In a class of 100 students there are 70 boys 15. The domain of sin™' [logs (x/3)] is :
whose average marks in a subject are 75. If (@) [1, 9] (b) [-1, 9]
the average marks of the complete class is © [-9, 1] ) [-9, -1]
I iy
Z':; ;h;:n what is the a(v:)rag; of the girls? : 16. The value of 24418 g6 o is :
(c) 68 (dy 74 (a) 1 (b) 2
3 = (c) 312 (d) 4
cot™ (Veos &) =tan™ (Veosot) = x, 17.  Fifth term of an G.P. is 2, then the product
then sin x is equal to : of its 9 terms is
; 2(a 2 (a) 256 (b) 512
vay it [2] (R} ot (2) (c) 1024 (d) none of these
10n
(c) tan (d) cot [%] 18. I{J Isinxldx is:
: ; ; (a) 20 (b) 8
The order and degree of the differential © 10 ) 18
: o i
equation [l o are then lim n [/, + 1,42]
2 n-=yco
@ 1.3 ) alss
: (b) 1
(@ 3
(c) (3, 3) d) (1. 2) 2
A plane which passes through the point (3, 2, 0) g - (d) zero
o Bl g wed o 2 3
and the line ety i i8:2 20. Jo [x7)dx is :
(@) x-y+z=1 (@ 2-V2 (b) 2+V2
(b) x+y+2z=5 © V2 -1 (d) -2 -3 +5
() x+2y—z=1 " :
d) 2x-y+z=5 21, [ BUESND G
2 -t | +cosx
. . __y = > S 3
The solution of the equation Y " Gl T @) 1-:T (b) 1
-2x
e T
(a) 2 (c) zero (d) >
=x . . -
(b) B i 22. The peno‘;i of lhi function
4 fx)=sinx+cos xis:
(c)le“l‘+cx2+d by &
4 (a) m (b) 2
(d) 1 e ¥ vc+d (c) 2m (d) none of these

4
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The domain of definition of the function

2
f(x) ='\/logm [S.r-x ] i

4
(a) [1, 4] (b) (1, 0]
(c) [0, 5] (d) [5, 0]
T dy . .
If sin y =a sin (x +y), then 4 IS¢
. « ;
(a) — ;ma ®) sin _!“"‘2!
sin“ (@a+y) sma
(c) sin a sin® (a+y) (d) sin;i:a

If x¥¥=¢""7 then % is :

l+x
1 +logx

(c) not defined (d)

(a)

The two
3.t2_v - )'3 -2=
(a) cut at right
(b) touch each o

curves

(c) cut at an angle %

(d) cut at an angle %

The function f (,\:)=t:0t'I X+ x increases in

the interval :
(a) (I, =)
(b) (=1, =)
(C) (- o2y oo)
(d) (0, =)
The greatest value of
F@=@+D"-x-1"3on 0, 1]is:
(a) 1 (b) 2
(c) 3 (d) 173
Evaluate J.Mz sin X
Vsin x + Vcos x

T
(a) Z (b) S
(c) zero (d) 1

30.

31.

32.

I dx
re—ie. i€ S0 105 ¢
x (.r"+ 1)

(a) — Iog (
+

,\"]
+C
|

1
(c) 08[4\,,*_

(d) none of these

The area bounded by the curve y= 2x — x*
and the straight line y =—x is given by :

9 43
(a) 5 (b) 6

(d) none of these

© 2

The differential equation of all non-vertical
lines in a plane is :

eal (d) ——0

dx
A A

Given two vectors 1— j and i+2j the unit
vector coplanar with the two vectors and
perpendicular to first is :

| -
(b) 7z @i+ J)

(b) ———0

1 A& &
(a) q;( i+ j)
(d) none of these

1 & 4
(c) iW(H- k)

A A A
The vector i+x j+ 3 kis rotated through an
angle 8 and doubled in magnitude, then it

A A A
becomes 4 i+ (4x—2) i+ 2 k. The value of
xis;

m)—%ﬂ]

b) %JJ
\
(2

&) I 0}
\3

-




35.

36.

38.

39.

40.

A parallelopiped is formed by planes drawn
through the points (2, 3, 5) and (5, 9, 7), parallel
to the coordinate planes. The length of a
diagonal of the parallelopiped to piped is :

(a) 7 (b) V38
(c) V155 (d) None of these

The equation of the plane containing the line
R, W e o W s (0
= = is

l m n
a(x—=x)+b(y-y)+c(z-2z)=0, where :
(@) ax; +by +cz,=0
(b) al +bm+cn=0

I m n
(d) Ixy +my;+nz;=0

A and B play a game where each is asked to
select a number from 1 to 25. If the two
numbers match, both of them win a prize.
The probability that they will not win a prize
in a single trial is :

1 24

@ 75 ®) 35 -
2

5 N tjﬁlll

If A and B are two
then B -
(a) P(A)<P (B) (b) P(A)> P(B)

(c) P(A)< P(B) (d) None of these
The equation of the directrix of the parabola
y2+4y+4x+2=0 is :

(a) x=-1

(b) x=1

lusive events,

© r=-3

(d) x=%

Let T, denote the number of triangles which
can be formed using the vertices of a regular
polygon of n sides. If T, -T,=21 then n
equals :

(a) 5

(b) 7

(c) 6

(d) 4

41.

42,

43.

44.

45.

46.

47.

In a triangle ABC, 2ca sin ASEHC is

equal to :
(a) a*+b% -
(c) B =~ a

) 2 +a®-p?
d) 2 -a?-p?

Forxe R lim (f:—g)‘ is equal to :
X—yoo

(a) e O

() 7> d)

The incentre of the triangle with vertices
(1,¥3), (0, 0) and (2, 0) is :

3 2 1
of 50T

2 3
(c) (5 ?J

_9
If the vectors ?, b and © from the sides
BC, CA and AB respectively, of a triangle
1|

(€ @ b=b-cE T F=0

) aka*akchekaz0

If @ is an imaginary cube root of unity then
(l+w- u)z)"' equals :

(a) 128 w (b) =128 @

(©) 128 w? (d) - 128 ?
6i =3 1

If | 4 3i  —l|=x+iythen:
20 3 [

(@) x=3, y=1 (b) x=1, y=3

() x=0, y=3 (d) x=0, y=0

sin%9 = oy 5 is true if and only if :

(x+y)

(a) x+y=0

(b) x=y, x#20,y#0

(c) x=y

(d) x20, y20
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The radius of the circle passing through the

2
foci of the ellipse <~ +%-= and having its

16 9
centre at (0, 3) is :
a) 4 (b) 3
) Y12 (d) —Z—
The probability of India winning a test match
zzainst  West-Indies is % assuming

ndependence from match to match the
probability that in a match series India’s
second win occurs at the third test is :

1
®)

a)

P |— OO |~

. 2
c) (d) 3

If (w# 1) is a cubic root of unity, then

1 | +i+@
|l =1 =]

s -l+w=-i
(a) zero
(c) i

A biased coin with probabi
heads is tossed until a head appears for the
first time. If the probability that the number

of tosses required is even is % then p equals :

(a) ®

W W |—

3
(c) (d) 5
A fair die is tossed eight times. The
probability that a third six is observed on the
eight throw is :
1(:'2 X 55
(a) &

7 5
Cy x5
(b) —35
6

7C2 X 55
(©) 3
6

(d) none of these

Let f(2)=4 and f'(2)=4.

Then lim ¥ (2)-2Ax) is given by :
x2 X2

(a) 2 (b) -2

(c) -4 (d) 3

Three  straight lines 2x+1ly=5=0,

24x+7y-20=0and 4x-3y-2=0:

(a) form a triangle

(b) are only concurrent

(c) are concurrent with on line bisecting the
angle between the other two

(d) none of these

A straight line through the point (2, 2)
intersects  the  lines  V3x +y=0 and
V3x-y=0 at the points A and B. The
equation to the line AB so that the triangle
OAB is equilateral is :

(@ x-2=0

(b) y—=2=0 ™

=()

of the point

(i0,7) the circle
x2+yz—4x—2y—20=0 is :
(a) 10 (b) 15
© 5 (d) none of these

The equation of the tangent to the circle

X -i-yz +4x—4y+4=0 which make equal
intercepts on the positive coordinate axes is :
(a) x+y=2 (b) x+y=2\f2—

(c) x+y=4 (d) x+y=8

The equation of the ellipse whose foci are

(%, 2, 0) and eccentricity % is1

2 2
L. .
(a) 12+ 6 |

2 2

& g
®) gtig=!

2 9
(c) 16+8--l

(d) none of these



59.  The equation of the chord joining two points X y

(x;,y)) and (x5,yy) on the rectangular Y=y X=Xy
2,
hyperbola xy=¢" Is :
' A A
) —Eig B 60. If the vectors C a=xi+yj+z
. . A ;
xR "l b= are such that @ Tand b form a right
(b) . -~ handed system then €is :
- -y A =
=% —n (@) zJ=-x k (b) 0
X y A
(c) + = (€) y} (d) -z x k
Nty xtx
Answer — Key
.. b | 2 a|l 3 b 4 al 55 b6 d|l 7 d] 8 a] 9 b]| 10 a
1. ¢ | 12. a| 13. b | 14. a | 15. a [ 16. b | 17. b | 18 a | 19. b | 20. d
21 a | 22. b | 23. a | 24. b| 25. d | 26. a| 27. ¢ | 28 b | 29. a | 30 a
3. a | 32. a| 33 c | 34 a| 35 a | 36 b | 37. b | 38 a | 39.d | 40. b
4. b | 4. c| 43. d | 44 b | 45 d | 4. d| 47. b | 48. a | 49. b | 50. a
51. a | 52. b | 53. c | 54. c| 55. b | 5. b | 57. b | 58 b | 59. a | 60. a




